
 Conversion factors: 

 Meat consumer = 3000 kg CO
2     

 Vegetarian = 1500 kg CO
2
   

 Vegan = 1000 kg CO
2

*This total includes the fact that 45 percent of food in the U.S. is wasted

Total:  kg CO
2

Hack Your Impact
How are you affecting climate change? 

Directions: Gather your parents’ utility bill(s) from the past month to use in 
this exercise. Calculate your CO

2
 emissions for each category, then add up 

those totals to determine your annual impact.

Planes



*The average person in the U.S. emits about 3,500 kg CO
2
-equivalent per year from electricity

Note: You’ll need your parents’ monthly utility bill information for this exercise. Your answer will be 
an approximation because gas usage tends to be higher in winter months than in summer months. 

 Conversion factors: 1 therm = 11 kg CO
2
      

_____ therms/month X 12 = _____ therms/year 

_____ therms/year X 11 kg CO


